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1. Rs. 6666

2. Rs. 7241

3. Rs. 8970

4. Rs. 5480
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d38 O 20% (@ (NN WWN "N =
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1. 3500 BT
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110(500 - y) + 95y = 54000

Q:1 3% Tud = faFg 2 W] 25% 55000-110y + 95y = 54000
41 < FSTTRT W0 INCE WY 26 100 15y =1000
= T = 100-80 = 20 y = 66.66
9N NIV =100 % 1.25 =125 a’ﬂmﬂ&ﬂ =100y = 100(6666) = Rs. 6666
= GUIE WA I = 125 I3 80%
- 100 Q:3 9% bed = fIFgg 2 W& 3000

= QN BV = 125- 100 = 25 T T (BT 2AFS AN x BIF], IO
Kj_r\x‘fqﬁ% (25 - 20)/20 x 100 X A9 65% 49 120% = 2340
- 25% 9% X = 2340 x 100 x 100/120 x 65 = 3000 BIHI
Q:2 3% Toa 5 =1 RFF 1i.c. Rs. 6666. Q:4 S5 Tod 27 fIagg 2 W18 16.7%.
Y = Rs. 50000 4T A1, AIRHBOF ST AN x BIFT
3% 21195 S = 8% JRPT NG ATV = X + X(20)/100 = 6x/5
3% N1 UT6 = 10% RPN AN RERHTT o, PO RS
15T 21 ST26T = 5% = 6X/5-x=X/5
4f¥, 49 43¢ TR TATGFCN 100x I3 100y ARSI, ATIGAI MTOI = {(x/5)/(6x/5)}

TS = U6 + B 100 =100/6 =16.7%

ATQ -

100x + 100y = 50000 Q:5 133 587 e fIdg 3 Wl 32
_ TR AT = 20%
100(x +y) = 50000
X +y =500..(1 ATER ATION = 10%
100x x (110/100) + 100y x (95/100) = 50000 =20+10+(20%10)/100
=30+2=32

x (108/100)
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